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FUNCTION RAND(IX)
IX = IX*16807
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RAND = RAND * 0.455661E-9
RETURN
END
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CHEEFEREEEXXXXRFRRERRRKKKRE PROGRAM P *********tt#*****ttt#*#t#t**tttt*****

CHEXXEXEXXXEXX FIND CRI'I'ICAI‘ VAL[J"E OF STAT'IS'I'ICS Zk FEEXEFXXEREREEXXKRREK

C

Q

(&
c MAIN PROGRAM &
&
DIMENSION X1(30),X2(30),XRANK(3)
REAL LOWER
COMMON/SEED/IX
* /VARHO/O
Comemmeeemeeees SET INITIAL DATA

DATA RMEAN1,RMEAN2,SD1,SD2,IR1,IR2,
* SUMX,SUMY,S UMG,SQRX,SQRY,SQRQ,SXY,SUX,SQUX,SUESRO
¥ SSK15,5SK1,SSK05,SSF15,SSF1,SSF05,

’

* SSV15,S8V1,S8V05
* /2%0.,2*1.,0,3,10*0.,9*0./
RHO = 0.

HRHO = 0.

N =15

CRITIC = 0.10

XX = 1.648

LOOP = 1000

LIL =0

LOOP1 =0

JCODE =1

X = 1234

IA = N-IR2-IR1

IS = IR1+1

FIR1 = FLOAT(IR1)

FIR2 = FLOAT(IR2)

FN = FLOAT(N)

FIA = FLOAT(IA)
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-------------------- START FOR ITERATION
DO 800 J = 1,LOOP
SUMY = 0.
SUMX = 0.
SQRX = 0.
SQRY = 0.
SXY = 0.
SQRQ= 0.
DO 301=1]A
CALL BINORM(RMEAN1,SD1,RMEAN2,SD2,EX1,EX2, RHO)
X1(I) = EX1
X2(I) = EX2
SUMY = SUMY+X1(I)
SQRY = SQRY+X1(I)*X1(I)
SUMX = SUMX+X2(I)
SQRX = SQRX+X2(I)*X2(I)
SXY = SXY+X1(I)*X2(I)
30 CONTINUE
CALL SORT(IA X1,X2)
FIA = FLOAT(IA)
SS1 = (SQRX-((SUMX*SUMX)/FIA))/FIA-1)
S$S2 = (SQRY-((SUMY*SUMY)/FIA))/(FIA-1)
S12 = (SXY-((SUMX*SUMY)/FIA))/(FIA-1)

--------- CENSORED DATA
IF (IR1.EQ.0. .AND. IR2.EQ.0.) GOTO 150

Q! = FIRI/FN

Q2 = FIR2/FN

CALL TT(Q1,Q2 RMEAN1 RMEAN2,SD1,SD2,T1,T2 FT1,FT2)

IF (IR1.EQ.0. .AND. IR2.NE.0.) THEN
BETA2 = -FT2*(T2-(FT2/Q2))/Q2
ALPHA? = (FT2/Q2)-(BETA2*T2)
CM = FN-FIR2+(FIR2*BETA2)
AK = (SUMY+(FIR2*BETA2*X1(IA)))/CM
Cl1 = (FIR2*BETA2)
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C2 = (C1*(X1(1A)**2))
C3 = (CM*AK*AK)
C = SQRY+C2-C3
B = (FIR2*ALPHA2*(X1(IA)-AK))
GOTO 120
ENDIF
120 ZIGMA?2 = (B+SQRT(B*BM*F’LOAT(IA)*C))/(Z*SQRT(FLOAT(IA*(IA-I))))
ZIGMAL1 = SQRT(SS1+((S12*S 12/882)*((ZIGMA2*ZIGMA2/5S2)-1)))
SUMG = 3.931537
SQRQ = 8.9102526
V = (SQRQ-(SUMG**2)/FIA)-2.5
GOTO 190
-------- COMPLETE DATA
150 AS = 0.
170 ZIGMA1 = SQRT(SS1)
ZIGMA?2 = SQRT(SS2)
V = FIA-2.5
190 ESRHO = (S12*ZIGMA2)/(SS2*ZIGMA1)
VN = V+0.25*(ESRHO**2)
LLL = LLIL+1
................... NUMERICAL INTEGRATION BY SIMSON'S RULE
CALCULATION F(Y) = ALPHA + CFF(Y1)=ALPHA
CALL CORRCT (VN ,HRHO ,ESRHO XX ,CRITIC FX1)
IF (FX1 .GT. 1.) THEN
GOTO 800
ELSE
LOOP1 = LOOP1+1
SUESRO = SUESRO+ESRHO
END IF
ORIGIN = 0.
IF (FX1 .LE. 0.5) THEN
FX2 = 0.5-FX1
ELSE
FX2 = FX1-0.5
END IF



IF (FX2.GE.0. .AND. FX2.LT.0.17) THEN
OLDLO = 0.
OLDUP = 0.44

END IF

IF (FX2.GE.0.17 .AND. FX2.LT.0.291) THEN
OLDLO = 0.44
OLDUP = 0.81

END IF

IF (FX2.GE.0.291 .AND. FX2.1.T.0.377) THEN
OLDLO = 0.81
OLDUP = 1.16

END IF

IF (FX2.GE.0.377 .AND. FX2.LT.0.4) THEN
OLDLO = 1.16
OLDUP = 1.282

END IF

IF (FX2.GE.0.4 .AND. FX2.1.T.0.45) THEN
OLDLO = 1.282
OLDUF = 1.645

END IF

IF (FX2.GE.0.45 .AND. FX2.LT.0.475) THEN
OLDLO = 1.645
OLDUP = 1.96

END IF

IF (FX2.GE.0.475 .AND. FX2.L.T.0.49) THEN

OLDLO = 1.96
OLDUP = 2.326
END IF

IF (FX2.GE.0.49 .AND. FX2.L.T.0.495) THEN
OLDLO = 2.326
OLDUP = 2.575

END IF

IF (FX2.GE.0.495 .AND. FX2.LT.0.4998) THEN
OLDLO = 2.575
OLDUP =34
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END IF
IF (FX2.GE.0.4998 .AND. FX2.L.T.0.49995) THEN
OLDLO =34
OLDUP = 3.981
END IF
IF (FX2.GE.0.49995) THEN
OLDLO = 3.981
OLDUP = 4417
END IF
FIND NEWUPPER POINT AND NEWLOWER POINT
THEORY = FX2
IYCLE = 30
DO 3601 = 1,25
OMID = (OLDLO+OLDUP)/2
--- FIND ERROR OF LOWER POINT
--- CASE 1-- UPPER POINT = OLDLOWER POINT
LOWER = 0.
UPPER = OLDLO
CALL SIMPS (LOWER,UPPER,IYCLE,AREALO)
ERLO = (AREALO-THEORY)
IF (ABS(ERLO) .LE. 0.0001) THEN
ONEWUP = OLDLO
ONEWLO = ORIGIN
AREASI= AREALO
GOTO 370
END IF
--- FIND ERROR OF MIDDLE POINT

--- CASE 2-- LOWER POINT = OLDLOWER POINT , UPPER POINT = MIDDEL POINT

LOWER = OLDLO
UPPER = OMID
CALL SIMPS (ORIGIN,UPPER,IYCLE, AREAMI)
ERMID = (AREAMI-THEORY)
IF (ABS(ERMID) .LE. 0.0001) THEN
ONEWUP = OMID
ONEWLO = ORIGIN
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AREASI = AREAMI
GOTO 370
END IF
Ceonnens FIND ERROR OF UPPER POINT
Ceeenees CASE 3-- LOWER POINT = MIDDLE POINT , UPPER POINT = UPPER POINT
LOWER = OMID
UPPER= OLDUP
CALL SIMPS (ORIGIN,UPPER,IYCLE,AREA UP)
ERUP = (AREAUP-THEORY)
IF (ABS(ERUP) .LE. 0.0001) THEN
ONEWUP = OLDUP
ONEWLO = ORIGIN
AREASI = AREAUP
GOTO 370
END IF
C oo END OF FIND POINT
XRANK(1) = ABS(ERLO)
XRANK(2) = ABS(ERMID)
XRANK(3) = ABS(ERUP)
CALL RANK(3,XRANK)
IF (XRANK(1) .EQ. ABS(ERLO)) THEN
OLDUP = OMID
END IF
IF (XRANK(1) .EQ. ABS(ERMID)) THEN
C --- OLDLOWER POINT IS NOT CHANGE
IF (ERMID .LE. 0.) THEN
OLDLO = OMID
ELSE
OLDUP = OMID
END IF
END IF
IF (XRANK(1) .EQ. ABS(ERUP)) THEN
C --- OLDUPPER POINT IS NOT CHANGE
OLDLO = OMID
END IF
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360 CONTINUE
370 BBB = 0.
IF (FX1 LT. 0.5) THEN
XP = -ONEWUP
END IF
IF (FX1 .EQ. 0.5) THEN
XP = ONEWUP
END IF
IF (FX1 .GT. 0.5) THEN
XP = ONEWUP
END IF
SUX = SUX+XP
SQUX = SQUX+XP**2
IF (LOOP1 .EQ. 1000) THEN
GOTO 810
END IF
800 CONTINUE
5 SN END FOR ITERATION
810 OP = FLOAT(LOOPI)
AOP = OP-1.
AVESRO = SUESRO/OP
AVSUX = SUX/OP
SDPX = SQRT((SQUX-OP*(AVSUX**2))/AOP)
WRITE (6,900)A VSUX,A VESRO
900 FORMAT (' AVERAGE X = 'F10.5/AVESRO = 'F10.5)
STOP
END

C**#xxxxxx2*+ FUNCTION FOR RANDOM NUMBER
FUNCTION RAND(IX)
IX = IX * 16807
IF (IX.LT.0) IX = [X+42147483647+1
RAND = IX
RAND = RAND*.455661E-9
RETURN



167

END
C***axxaxxxss SUBROUTINE FOR BINORMAL DISTRIBUTION
SUBROUTINE BINORM(RMEAN1,5D1 RMEAN2,SD2,EX1 EX2 RHO)
COMMON/SEED/IX
PI = 3.1415962
RONE = RAND(IX)
RTWO = RAND(IX)
Z1 = SQRT(-2*ALOG(RONE))*COS(2*PI*RTWO)
Z2 = SQRT(-2*ALOG(RONE))*SIN(2*PI*RTWO)
Cl1= SQRT(SD1)
C21 = RHO*SQRT(SD1)*SD2
C22 = SQRT(SD2-(C21**2))
EX1 = RMEANI4C11*Z1
EX2 = RMEAN24C21*Z1+C22*72
RETURN
END
Cre#sssxasress SUBROUTINE FOR SORTED DATA
SUBROUTINE SORT(NUM,X1,X2)
DIMENSION X1(30),X2(30)
NN = NUM-1
DO 70 K = 1,NN
LB+l
DO 60 KK = L,NUM
IF (X1(K).LEX1(KK)) GOTO 60
CKl =XI1(K)
X1(K) = X1(KK)
X1(KK) = CK1
AK2 = X2(K)
X2(K) = X2(KK)
X2(KK) = AK2
60 CONTINUE
70 CONTINUE
RETURN
END
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C***#axx2xxx2 SUBROUTINE FOR T1,T2
SUBROUTINE TT(Q1,Q2,RMEAN1 RMEAN2,SD1,SD2,T1,T2,FT1,FT2)
Fl = 1-Ql
F2 =Q2
Z1 = 1.2815
72 = 0.8414
IF (Q1.EQ.0.) THEN
Tl = 0.

ELSE

Tl =7Z1

END IF

IF (Q2.EQ.0.)THEN

T2 =0.

ELSE

T2 = 72

END IF
FTAI = (2.¥3.14592654)
FTA2 = 1/SQRT(FTAI)
FTA3 = (-.5*T1*T1)
FT1 = FTA2*EXP(FTA3)
FTBI = (2.#3.14592654)
FTB2 = 1/SQRT(FTB1)
FTB3 = (-.5*T2*T2)
FT2 = FTB2*EXP(FTB3)

RETURN

END

C****xaxsxx2x2 SUBROUTINE FOR CORRECTION TERM
SUBROUTINE CORRCT(VN,HRHO ESRHO,Y ,ALPHA FY)
BPHA = 1.-(ALPHA/2.)

CF1 = (Y**3)/(6.*VN)
CF2 = ESRHO/SQRT(VN)
CF3 = FI(Y)/2.

CF = (CF14CF2)*CF3

FY = BPHA+CF
RETURN



END

C**xxxxxxxaxx SUBROUTINE FOR SIMP'S RULE

SUBROUTINE SIMPS(OWER,UPPER,N,AREASI)
SUMEVE = 0.

SUMODD = 0.

DETA = (UPPER-OWER)/FLOAT(N)

EDGE = F1(OWER)+F1(UPPER)

NN = N-1
NFLAG =1
DO 301= 1NN

IF (NFLAG .EQ. 2) THEN
SUMEVE = SUMEVE + F1(I*DETA)
NFLAG =1
ELSE
SUMODD = SUMODD + F1(I*DETA)
NFLAG =2
END IF
AREASI = (EDGE+4*SUMODD+2*SUMEVE)*(DETA/3)

30 CONTINUE

RETURN
END

C¥*xxxxxxxxx*x FUNCTION NORMAL DISTRIBUTION

FUNCTION F1(X)

PI = 3.1415926

F1 = (1/SQRT(2*PD))*EXP(-(X**2)/2)
RETURN

END

Ce**xxxx3:x%% SORTED DATA

SUBROUTINE RANK(N, XRANK)
DIMENSION XRANK(3)
NI = N-1
DO 201=1,N1
I1 = I+1
DO 10K =I1,N
IF(XRANK(I) .LE. XRANK(K)) GOTO 10
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T = XRANK(D)
XRANK(I) = XRANK(K)
XRANK(KK) =T
10 CONTINUE
20 CONTINUE
RETURN
END
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CHFEXXEXXXXEXEXXEXERREX FIND TYPE I ERROR & POW’ER OF 'I'EST **t#*****:‘****t****t*#c
c

@]

C MAIN PROGRAM C
Cusas (&

DIMENSION X1(20),X2(20)

COMMON/SEED/TX
*  /VARHO/O

DATA RMEANI1,RMEAN2,SD1,SD2,IR1,IR2,
*  SUMX,SUMY,SUMG,SQRX,SQRY,SQRQ,SXY ,SUESRO
*  SSK1,SSK05,SSF1,SSF05,S8V1,5SV05

*  2%0.2%1.0,2,8%0.,6%0./
DATA GALY1,GALY2,GBTAY1,GBTAY2
*/10.,10.,1.,1./
RHO = 0.
HRHO = 0.8
N =20
LOOP = 1000
LLL = 0
LOOPI =0
JCODE = 2
ZCl = 1.648
ZCO5 = 1.96
IA = N-IR2-IR1
Il =0
IX = 1234
IS = IR1+1
FIRI = FLOAT(IR1)
FIR2 = FLOAT(IR2)
FN = FLOAT(N)
FIA = FLOAT(IA)
", F START FOR ITERATION
DO 900 LL = 1,1



DO 800 J = 1,LOOP
SUMY = 0.
SUMX = 0.
SQRX = 0.
SQRY = 0.
SXY = 0.
SQRQ= 0.
DO 301 =1]JA
CALL BINORM(RMEAN1,SD1 RMEAN2,SD2 EX1,EX2,RHO)
CALL BIGAMA(GALY1,GBTAY1,GALY2,GBTAY2,RHO EX1,EX?2)
X1(I) = EX1
X2(I) = EX2
SUMY = SUMY+X1(I)
SQRY = SQRY+X1(I)*X1(I)
SUMX = SUMX+X2(I)
SQRX = SQRX+X2(I)*X2(I)
SXY = SXY+X1(I)*X2(I)
30 CONTINUE
CALL SORT(IA X1,X2)
FIA = FLOAT(IA)
SS1 = (SQRX-((SUMX*SUMX)/FIA))/(FIA-1)
$S2 = (SQRY-(SUMY*SUMY)/FIA))/((FIA-1)
S12 = (SXY-((SUMX*SUMY)/FIA))/(FIA-1)
..................... FIND RHO ( CENSORED DATA )
IF (IR1.EQ.0. .AND. IR2.EQ.0.) GOTO 150
Q1 = FIRI/FN
Q2 = FIR2/FN
CALL TT(Q1,Q2,RMEAN1 RMEAN2,SD1,SD2,T1,T2,FT1 FT2)
IF (IR1.EQ.0. .AND. IR2.NE.0.) THEN
BETA2 = -FT2%(T2-(FT2/Q2))/Q2
ALPHA?2 = (FT2/Q2)-(BETA2*T2)
BETA2 = 0.8395
ALPHA2 = 0.6873
CM = FN-FIR2+(FIR2*BETA2)
AK = (SUMY+(FIR2*BETA2*X 1(IA)))/CM
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C1 = (FIR2*BETA2)
C2 = (C1*(X1(1A)**2))
C3 = (CM*AK*AK)
C = SQRY+C2-C3
B = (FIR2*ALPHA2*(X1(1A)-AK))
GOTO 120
ENDIF
120 ZIGMA2 = (B+SQRT(B*B+4*FLOAT(IA)*C))/(2*SQRT(FLOAT(IA *(1A-1))))
ZIGMAL1 = SQRT(SS1+((S12*S12/882)*((ZIGMA2*ZIGMA2/8S2)-1)))
SUMG = 3.27507
SQRQ = 14.069591
VN = (SQRQ-(SUMG**2)/FIA)
GOTO 190
---------------------- FIND RHO ( COMPLETE DATA )
150 AS = 0.
170 ZIGMA1 = SQRT(SS1)
ZIGMA?2 = SQRT(SS2)
190 ESRHO = (S12*ZIGMA2)/(SS2*ZIGMA1)
LLL = LIL1+1
SUESRO = SUESRO+ESRHO
LOOP1 = LOOP1+1
---------------------- FISHER STATISTICS
AR1 = (1.+4ESRHO)/(1.-ESRHO)
AR2 = (1.+4HRHO)/(1.-HRHO)
VAK2 = VNFFIA
CALL FS(VN,AR1,AR2,JCODE,ZF1)
IF (ZF1.1LE.-ZC1 .OR. ZF1.GE.ZC1) THEN
SSF1 = SSF1+1.
ENDIF
IF (ZF1.LE.-ZCO5 .OR. ZF1.GE.ZC05) THEN
SSF05 = SSFO5+1.
ENDIF
...................... KONISHI STATISTICS
VAKI1 = VN-2.5+0.25*(ESRHO**2)
VAK3 = 1.-(ESRHO**2)+(ESRHO**2)*VAK2



VAK4 = (SQRT(VAK3))
CALL KS(VAKI,AR1,AR2,VAK4,JCODE,ZK1)

IF (ZK1.LE.-2.02260 .OR. ZK1.GE.2.02260) THEN

SSKO05 = SSKO05+1.
ENDIF

IF (ZK1.LE.-1.68062 .OR. ZK1.GE.1.68062) THEN

SSK1 = SSK1+1.
ENDIF
--------------------- VAUGHAN STATISTICS
VV1 = 1.-HRHO**2+(HRHO**2)*VAK2
VV2 = (1.-(HRHO**2))*SQRT(VV1)
VV3 = (ESRHO-HRHO)
CALL VS(JCODE.ESRHO,VN,VV2,VV3ZV1)
IF (ZV1.LE.-ZC1 .OR. ZV1.GE.ZC1) THEN
SSV1 = SSV1+l.
ENDIF
IF (ZV1.LE.-ZCO05 .OR. ZV1.GE.ZC05) THEN
SSV05 = SSVO5+1.
ENDIF
IF (LOOP1 .EQ. 1000) THEN
GOTO 810
END IF
800 CONTINUE
---------------------- STOP FOR ITERATION

...................... COMPUTE TYPE I OR POWER OF TEST

810 OP = FLOAT(@ML.OOP1*LL)
PZF1 = SSF1/OP
PZF05 = SSF05/OP
PZK1 = SSK1/OP
PZKO05 = SSK05/0OP
PZV1 = SSV1/OP
PZV0S5 = SSV05/0P
AVESRO =SUESRO/OP
AOP = OP-1.
SDZF1 = SQRT((SSF1-(PZF1**2)*OP)/AOP)
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SDZF05 = SQRT((SSF05-(PZF05**2)*OP)/AOP)

SDZK1 = SQRT((SSK1-(PZK1**2)*OP)/AOP)

SDZKO0S = SQRT((SSK05-(PZKO05**2)*OP)/AOP)

SDZV1 = SQRT((SSV1-(PZV1**2)*OP)/AOP)

SDZVO05 = SQRT((SSV05-(PZV05**2)*OP)/AOP)

WRITE (6,850)GALY1,GALY2,HRHO,RHO,N,IR1,IR2,SUMG,SQRQ,

# LOOP PZF1,SSF1,SDZF1,PZK1,SSK1,SDZK1,PZV1,SSV1,SDZV1,
* PZF05,SSF05,SDZF05 PZK05,SSK05,SDZK05,PZV05,SSV05,SDZV05,LLL LOOP1
850 FORMAT (/, 'y

*J; COMPUTE TYPE I ERROR OR POWER OF TEST ',

C *// POWER OF THE TEST ',
* /! BIGAMMA DISTRIBUTION '/ALPHA1 ='F10.5,2X,ALPHA2 = 'FI10.5,
* /5X,/HRHO="F10.5,2X,/RHO ='F10.52X,N = 'I2,2XIR1="12,2XIR2 =12,
* I5X,’ SUMG = 'F10.5,2X,'SQRQ = 'F10.5, /' LOOP = 'I5,
* 5X,PZF1 ='F10.5,5X,/SSF1 ='F10.1,5X,'SDZF1 ='F15.5,
* 5X,PZK1 ='F10.5,5X,'SSK1 ="F10.1,5X,SDZK1 ='F15.5,
* 5X,PZV]1 ='F10.5,5X,SSV1 ='F10.1,5X,/SDZV1 ='Fl5.5,
* /5X,PZF05 = 'F10.5,5X,'SSF05= " F10.1,5X,'SDZF05 = 'F15.5,
* 5X,'PZKOS = 'F10.5,5X,'SSK05= 'F10.1,5X 'SDZKO05 = 'F15.5,
* I5X,PZV0s = 'F10.5,5X,'SSV05='F10.1,5X,'SDZV0S = 'F15.5,
* SX,LLL =']152X,LOOPI ="]I5)

900 CONTINUE

STOP
END

Cr¥xxxxxxxxxx* FUNCTION FOR RANDOM NUMBER
FUNCTION RAND(IX)
IX = IX * 16807
IF (IX.LT.0) IX = IX+2147483647+1
RAND = IX
RAND = RAND* 455661E-9
RETURN
END
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Cxxsxsxxxxssxxx SUBROUTINE FOR BINORMAL DISTRIBUTION
SUBROUTINE BINORM(RMEAN1,SD1,RMEAN2,SD2,EX1,EX2,RHO)
COMMON/SEED/IX
PI = 3.1415962
RONE = RAND(IX)

RTWO = RAND(IX)

Z1 = SQRT(-2*ALOG(RONE))*COS(2*PI*RTWO)
Z2 = SQRT(-2*ALOG(RONE))*SIN(2*PI*RTWO)
Cl1= SQRT(SDI)

C21 = RHO*SQRT(SD1)*SD2

C22 = SQRT(SD2-(C21**2))

EX1 = RMEAN1+(C11*Z1)

EX2 = RMEAN2+(C21*Z1)+(C22*Z2)

RETURN

END

C#*x#xaxaxs2s SUBROUTINE FOR BIGAMMA DISTRIBUTION
SUBROUTINE BIGAMA(GALY1,GBTAY1,GALY2,GBTAY2 RHO,BGX1,BGX2)
DIMENSION ALY (3),GB(3),GGX(3,20),BGX1(20),BGX2(20)
COMMON/SEED/IX
DATA P1,P2
*  pro/

A=1
ZETA = 4.5
ALY(3) = RHO*SQRT(GALY1*GALY?2)
ALY(1)= GALY1-ALY(3)
ALY(2)= GALY2-ALY(3)
DO 10JI=13
GB(JT) = (2.718281828+ALY(J1))/(2.718281828)

10 CONTINUE
DOSOLL =13
DO 401l = 1,JA

IF (ALY(L).GT.0. .AND. ALY(LL).LT.1.) THEN
AL = ALY(LL)
GG = GB(LL)
CALL GAMI(AL,GG,GX1)



GGX(LL,II) = GX1
END IF
IF (ALY(LL).EQ.0.) THEN
GX1 = 0.
GGX(LL,II) = GX1
END IF
IF (ALY(LL).GT.1.) THEN
GRA = 1/SQRT(2.*ALY(LL)-1.)
GRB = ALY(LL)-ALOG(4.)
GRQ = ALY(LL)+1./GRA
GD = 1.+ALOG(ZETA)
AL = ALY(LL)
CALL GAM2(AL,GRA,GRB,GRQ,GDZETA ,GX1)
GGX(LL,II) = GX1
END IF
IF (ALY(LL).EQ.1.) THEN
CALL EXPO(GX1)
GGX(LL,II) = GX1
END IF
40 CONTINUE
50 CONTINUE
DO 557 = 1,]A
BGX1(J) = GBTAY1*(GGX(1 J)+GGX(2,J))
BGX2(J) = GBTAY2*(GGX(2,))+GGX(3,1))
55 CONTINUE
RETURN
END

Crr¥¥xxxxxsxx++ SUBROUTINE FOR GAMMA DISTRIBUTION (ALPHA>0 AND ALPHA<1)

SUBROUTINE GAM1(ALPHA ,GB X)
COMMON/SEED/TX
10 Ul = RAND(IX)
P = GB*Ul
IF (P.LE.1.) THEN
Y = P**(1/ALPHA)
U2 = RAND(IX)
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ELSE
GOTO 50
END IF
Y1 = EXP(-Y)
IF (U2.LE.Y1) THEN
X=Y
GOTO 70
ELSE
GOTO 10
END IF
50 Y = -ALOG((GB-P)/ALPHA)
U2 = RAND(IX)
UY = Y**(ALPHA-1.)
IF (U2.LE.UY) THEN
X=Y
GOTO 70
ELSE
GOTO 10
END IF
70 RETURN
END
Crrxxxxxxxsrx+x SUBROUTINE FOR GAMMA DISTRIBUTION (ALPHA>1)
SUBROUTINE GAM2(AL,GRA,GRB,GRQ,GD,ZETA X)
COMMON/SEED/IX
10 Ul = RAND(IX)
U2 = RAND(IX)
V = GRA*(ALOG(U1/1-U1)))
Y = AL*EXP(V)
Z = (U1**2)*U2
W = GRB+GRQ*V-Y
AK = W+GD-ZETA*Z
IF (AK.GE.0.) THEN
X=Y
GOTO 30
END IF
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IF (W.GE.ALOG(Z)) THEN
X=Y
ELSE
GOTO 10
END IF
30 RETURN
' END
C¥*xxxxxxxx*+++ SUBROUTINE FOR EXPONENTIAL DISTRIBUTION (ALPHA = 1)
SUBROUTINE EXPO(X)
COMMON/SEED/IX
Ul = RANIXIX)
X = -ALOG(U1)
RETURN
END
CH*xxrxxxxxx2%x SUBROUTINE FOR SORTED DATA
SUBROUTINE SORT(NUM,X1,X2)
DIMENSION X1(20),X2(20)
NN = NUM-1
DO 76 K = I,NN
L=K+1
DO 60 KK = L NUM
IF X1(K).LE X1(KK)) GOTO 60
CKl =XI(K)
X1(K) =X1(KK)
X1(KK) = CK1
AK2 =X2K)
X2(K) = X2(KK)
X2(KK) = AK2
60 CONTINUE
70 CONTINUE
RETURN
END
C**xxxxxxx3%2* SUBROUTINE FOR FIND TIT2
SUBROUTINE TT(Q1,Q2,RMEAN1,RMEAN2,SD1,SD2,T1,T2,FT 1,FT2)
Fl =1-Q1



F2 =Q2

Z1 = 1.2815

Z2 = 1.2815

IF (Q1.EQ.0.) THEN

Tl = 0.

ELSE

Tl =7Z1

END IF
IF (Q2.EQ.0.)THEN

T2 =0.

ELSE

T2=22

END IF

FTA1 = (2.*3.14592654)
FTA2 = 1/SQRT(FTA1)
FTA3 = (-.5*T1*T1)

FT1 = FTA2*EXP(FTA3)
FTBI = (2.*3.14592654)
FTB2 = 1/SQRT(FTB1)
FTB3 = (-.5*T2*T2)

FT2 = FTB2*EXP(FTB3)

RETURN
END

C¥**xxx3xxxxx* SUBROUTINE FOR FISHER STATISTICS
SUBROUTINE FS(VN,AR1,AR2,JCODE,ZF1)

IF JCODE.EQ.2) GOTO 20

20

VAF1 = SQRT(VN-3.)

ZF1 = 0.5*VAF1*ALOG(AR1)
GOTO 40

VAF2 = SQRT(VN-3.)

ZF1 = (VAF2*(0.5*ALOG(AR1)-0.5*ALOG(AR2)))

40 RETURN

C¥*¥xxxxxxxxx*x* SUBROUTINE FOR KONISHI STATISTICS

END

SUBROUTINE KS(VAK1,AR1,AR2,VAK4,JCODE,ZK1)
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VKI = 0.5*SQRT(VAKI)
IF (JCODE.EQ.2) GOTO 20
ZK1 = VK1*ALOG(AR1)
GOTO 40
20 VK2 = SQRT(VAKI)*(0.5*ALOG(AR1)-0.5*ALOG(AR2))
ZK1 =VK2/VAK4
40 RETURN
END
C****2xxxxx33%+ SUBROUTINE FOR VAUGHAN STATISTICS
SUBROUTINE VS(JCODE,ESRHO,VN,VV2,VV3.ZV1)
IF (JCODE.EQ.2) GOTO 20
ZV1 = ESRHO*SQRT(VN)
GOTO 40
20 ZV1 = (VV3*SQRT(VN)AVV2)
40 RETURN
END



182
5z 306 398

o o a A o d
wian anwme ne e inadeTun 22 wwieuw WAL 2512 NTAUNHUKIUAT
@ oy -~ o ~ an -~ s s A
g Syninemanstada@da) nnumAinndunyasmans Wellmsfiny 2533
uastfnEemAdneEaa ausmdsemaasuazmind gnansaimInede

HUnrsdnu 2535




	รายการอ้างอิง
	ภาคผนวก
	ประวัติผู้เขียน

